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- " Total Mark (560 Marks) m
l. Vocabulary (100 Marks
( ) w0

A. From a, b, c and d choose the word that best completes each sentence below(5x10=50)

1. Many................ organizations give direct support to poor families all over the world.
a. aggressive b. worthless
c. charitable d. humid
2. The strong storm ............ approximately 80% of farming land and food supplies.
a. decimated b. reprocessed
c. avoided d. prosecuted
3. Idecidedto................ delete my Facebook account because of personal reasons.
a. vociferously b. permanently
c. commercially d. prohibitively
4. After ................ with my parents and teachers, | made up my mind to join Kuwait
Medical College.
a. consultation b. desertification
c. atmosphere d. discrimination
5. The doctor told my fatherto ................ salt because of his high blood pressure .
a. break into b. keep up with Q
C. trespass on d. cutdown on

B. Fill in the spaces with the most suitable words from the list below (5 x 10 =50)

( commitment / constant / fascinating / deteriorated / nervously /clog up )

6. Studentsneed ..........cccoe..e. encouragement to help them become more self-confident.

7. Some peopleact ..........ceueee. during job interviews and that might limit their performance.

8. Our school's policy is based on a vision of ...................... that every student should succeed.

9. Travellingisa ......coceeennn. experience which helps us learn about other cultures and lives.

10. ;]I'he paint on the outside of the house has completely ..................... because of the extreme
eat.

1 O
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II- Grammar ( 60 Marks ) w

A. From a, b, c and d choose the correct completion of the sentences below( 4 x 10 = 40)

11. Bythetimewe ................ to the stadium , the football match had already started.
a. would arrive b. Arrive
c. arrived d. had arrived
12, wasting your time, you'd better do some serious work.
a. On the other hand but b. Instead of
c. Whereas d. But
13. Children should drink milk because it provides them ................ calcium which is
necessary for bone development.
a. of b. on
c. with d. in
14, TwishI................ my last summer holiday in Paris. | could have visited the Eiffel
Tower.

a. spend b. had spent
c. will spend d. am spending Q

B. Correct the underlined mistakes in the sentences below( 4 x 5 =20)

A B
15. My brother has been painted his room for this morning. He hasn't finished yet.
A e, B
A B
16. If you had trained well, you would pass your driving test easy.
A i, B. o

O
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I11- Language Functions (40 Marks )
Write what you would say in the following situations: ( 4 x10 = 40) W
17. A friend of yours drives the car without wearing the seatbelt.

IV- Set-Book (40 Marks)

In_ meaningful sentences, answer only Four of the following guestions :( 4 x10 ﬂw

21. Why do criminals use the Internet to communicate with each other?
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V- Writing (120 Marks) ‘
Write on the following topic: E

""Water pollution has become one of the main problems that many countries face nowadays""

In (14 sentences — 160 words), plan and write a report showing the reasons of water pollution,
its bad effects on humans and other creatures and your suggested solutions for solving this
problem.

NB: Your topic should include an introduction, a body and a conclusion

Outline (20)




Al daaall
YOANA LYY N Al 5l -l SN Caall (4 5 dasyl ) (V) A a1 AR
(a5 — Sanalill 5 ¢ 5 jiall CilaginV) — USH il ) jall sl Al — 4 gl Cailda ) — ac ) g8l — il yiall)

Write your topic here (100)

........................................................................................................................

........................................................................................................................

........................................................................................................................

........................................................................................................................

........................................................................................................................

........................................................................................................................

........................................................................................................................

........................................................................................................................

........................................................................................................................

........................................................................................................................

........................................................................................................................

........................................................................................................................

........................................................................................................................

........................................................................................................................

Outlining Exposition of Ideas Sp. & Gram. HW, Spacing &Punct. Total

20 70 20 10 120

30 Marks to be deducted for changing the format.

5
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V1- Reading Comprehension & Summary Making ( 150 Marks )

Read the following passage carefully, then answer the guestions below: W

Bats are wild animals. They are the only mammals that are able to fly. Bats can be found
almost everywhere in the whole world except in very cold or very hot countries. They are
mostly found in tropical countries.

Bats have an interesting way of looking at their world. Bats are nocturnal, which means
they are most active at night. They don’t use their eyes to find their way around in the dark.
They use their ears instead!

Bats are among a very selected group of animals. The animals in this group also include
whales and dolphins. They all use a very high frequency sound, which is a special noise, to do
what other animals do with their eyes. This skill is known as echolocation. Echolocation allows
bats to hunt for food. It also helps them avoid obstacles in their path as they fly in the dark. It
even lets them communicate with other bats.

So how does echolocation work? It’s just like ringing sounds in a large, empty room or at
the edge of a narrow valley. Bats move air across their vocal cords just like people do when
they speak or shout. Some bats make the sound come out of their mouths. Others make the
sound come out of their noses. The sound they make has a very high noise. This means the
sound waves move very quickly. The energy from the sound waves goes out in front of the bat
and bounces off any objects there. It creates a ringing sound that returns back to the bat.

The bat’s ears often appear quite large compared to the size of its head. Depending on
where the sound hits on the folds of the bat’s ear, the bat can tell very precisely where an object
is. The strength of the echo can even tell the bat how large the object is. The echo from a
moving object has a different sound from the one that is still. It is either lower or louder. The
sound is louder if the object is coming closer and lower if it’s going away. This is important
because it helps the bat find insects to eat.

The process of echolocation is very natural for the bat. The bat does not have to think about
listening, or what to do next. It works so well that the bat doesn’t care that it is. It can see with
its ears!
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A. Choose the correct answer from a, b, c and d: (5x 10=50)

26. A suitable title for the passage iS..........cooevviiiiiiiiiiiiiiei, Q
a. Sound Waves

b. Vocal Cords
c. Echolocation in Bats
d. The Strength of the Echo

27. The underlined pronoun them in the 3" paragraph refers to.....................
a. bats
b. dolphins
c. animals
d. whales

28. The main idea of the 3" paragraph is . ...
a. The places where bats can live in.
b. How bats find their way in daytime.
c. How bats communicate and hunt for food.
d. How bats are different from whales and dolphins.

29. The underlined phrasal verb bounces off in the 4™ paragraph is closest in meaning to ...
a. hits
b. flies
C. accepts
d. admits in

30. Which of the following is NOT TRUE according to the passage?
a. Bats, Whales and Dolphins are active all night.
b. The bat's head is smaller in size than its ear.
c. Bats are different from other animals in finding their way.
d. Sound of objects prevents bats from getting their food.
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B. Answer the following questions: (4 x15=60 )
31. What kind of sound does a bat use for echolocation?

C. Summary Making (40) Q
In four sentences, summarize the 4™ paragraph in answer to the following question :

How does echolocation work?
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V11- Translation (50 Marks) w

A. With reference to paragraph (5 ),translate the following into good Arabic: (30)

The echo from a moving object has a different sound from the one that is still. It is either
lower or louder. The sound is louder if the object is coming closer and lower if it’s going

away. This is important because it helps the bat find insects to eat.

B. Translate the following into good English: (20)
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